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Why do I need them standing within — 7193 PTRIY OY b

Overview

The X713 asks; according to the view that "n7 “ypapnd °72y why is it
necessary (for the 1¥7n) to interpret the Xn>72 which states 71p ¥pIpP2 P10
0’72y, in a case where the 0>72y are 71912 7MY (seemingly, according to the
ruling of Sxmw, the 0°73y should be 7Pl even if 72102 P71 PR). There may
be a slight difficulty with this question. Perhaps the 1¥7n assumed that the
ruling of HXw cannot apply to 072y since they are different than ¥p7p (even
though »7 *¥pIpnd *72v). The X0 may have assumed that the 072y are 73p2
with the ypap2 7P either through 23X 112 or 7% 112, Therefore the 1x7n felt
(especially if it is 29xn 117 [and even if it is 322% 73p]) that it 1s necessary for
the 072y to be 172112 77W. Our MdOIN will explain that the 7X7n could not
have entertained such thoughts that the 072y are 71p1 either through %1 7°1p
or 2AX PIp.

—MYTY 1PINYN PN 1Y “ONDT NP 98N OYONI RY TN Yy Wivde

The explanation of the question 72102 172w % 7% is as follows: we are

obliged to say that the 0°72¥ are not being acquired through 2xn 1p, for
generally 272y are not being guarded under his supervision -

— 99975 X1 %a85 TaY MNNTINTY T8 1121 199N

And even if the person who wishes to acquire the 72y is standing beside his

field, he will not be 1P the 72v through 2%11 112, for the 72 is like the case

where a deer is running in a normal manner in someone’s field. The rule there

is that since he cannot reach the deer (before the deer exits his 7¥); he is not 1P the deer

[even if he is M%7 7¥2 TMW]. The same would apply to an 72¥. Therefore there is no

reason to assume that he can acquire the 72y through 2xn1 7°3p.
— YPIP X DD PR YPIPT NP RD ) 2N DYLN)
And he cannot be mnp the 72y through 23X 1Ip, for ¥pap cannot be

acquired Ypap 23R (and now we are assuming AT OYPIPND 27aY) -
— NHYN NIPN NN "DINNY NIINDN YPIP 2P 9N 199N

1999 73p 1n 'R2 prImAw 10 M b mTw 1 on.

227 13p is only of the object is within the 7z.

> When we assumed that "7 *20%0n3 *72v and it was X1 that we require the 0°72y to be 12102 P, it was
concerning 23X 1°Ip (not 7% 1°1p) as is evident from the "Pnyw ' ®wp that why do we require 72102 17w
since by 23X there is no need for 1"2x. It is evident that it was understood that (even) for 23X 7°3p, we also
require that the 2>72¥ be 15102 PIW.

* The term w17 is coming to address the difficulties indicated in the ‘Overview’.

> See previous 721 "7 Moo “Thinking it over’.

% See previous 721 "7 MO footnote # 7, that a 737 must be 2";7w2 NYT> TNwn in order to be fnp. Here
moon adds that the item which is acquired through 2%n P17 must also be 2"7v3 nY7> MANWH.

" The q"w 0"an (and w"w") amend this to read 0¥n?. There was for instance a cave and ground above the
cave. He was told to be i11p the cave (the lower ¥pp) and 723X to be 1177 the upper ¥p7p above the cave.
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And even if the 7P said; ‘be 2 the land that is close to the (21n)

[2y7n] and through it you shall be 72312 the land above it -
— "33 %37 NY 1T 22 5Y 1t "N KOWNT

Were now it is one land on top of another land, nevertheless he cannot

acquire the upper land through 23R 7°3p. Therefore he can certainly not be np the
72¥ through 23X 7°3p (even if the 72v is on the ¥p1p that the purchaser was 111p).

We have therefore exhausted the possibilities why if the 72y is standing within the ypap
he is 7121 through the yp2p. It cannot be through 2%11 1°1p, or through 23X 1Ip.
— 92NN 2PYNT HNNN 197 2PT NN TN by NON

But rather we are obliged to assume that the reason he is 719 the 72V is
because the 72V is considered attached to the v717. It is one and the same 73p.°

Therefore the X7nx asks:
— 9123 NN PTMIY PN 199N )5 ON)

If this is so, that the 72v is considered vpap% 172177, then even if he is not

standing within the ¥ he should also be '*3p1 -
— M VY MTY VYYD »"NY

For it is like purchasing ten fields in ten countries that even though they are
not attached, he acquires them all; therefore he should also acquire the 72y regardless
where the 72V is.

— 1995 1) 119 INNA PINNY s
Since he made a 77?117 in one of the fields he acquired them all.

Mmoo anticipates a difficulty:
— (%7 97 Nan2 832) DINAN NPIN P92 HNNVY NPT N
And concerning that which X2 stated in 2°n277 NP P95 -
~71253 YW19) DIPN NIN NP ND
‘he acquired only the place where he dug alone’, but he is not 1p the rest of
the field. Why does 2RWw rule here that he is n11p all the fields in different countries?

mooin replies; the ruling in 2"2 is —
— 997 NP IMIN NIPN NINK NYT ONX YAN IPONT XN Y0332 139N

8 ypp is not 2381 Ip3, since the P00 of 23X mentions only *%v%un (M3 ,2777 ,70).

’ When a person makes a P17 in a field through y191 973 991 he is 723p the entire field, even those areas
where no 711 73 was performed. The 72V is considered as part of the field (when he is 712102 T21v).

' If the xm3 would not have taught that by 1210 P72 the 0°72y are 71373, there would be no inclination that
072y should be 71371 similar to m17w ", for we could differentiate between a ‘real’ 7217 and o°72v. However
now that you claim that if 1102 7721y, the 2>72y are 7711 and it cannot be because of 71X or 23X (as N1BOIN
just explained); it must be only because the 72v is considered 72117, therefore it is similar to M7w ", so why
do we require the 712102 1729, See mw MR >"72.

' According to the 5w 0"~n, this is the beginning of a new MooON.
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Concerning a 717 made in the assets of a 93 (who died without heirs),
which are 2p2:7; it is only there that 2XW maintains that 21pn X9X 73 X
7252 W10, however if there is ‘another mind’ who is granting him the
rights over all the fields (i.e. if someone is selling him the various fields)
then he acquires them all."?

Mmoo anticipates an additional difficulty: 1
— P09 98127 NN MMINPT NN

And that which the X1 states there, that ‘a boundary separates’; one
cannot acquire any Yp7p beyond the boundary of the field in which he is making a fpm.
This ruling is also contrary to the ruling of "1 MTw Wy 17 1on.

mooIn responds:
— 0919 997 0NY 1N XY 9912 IN ) 20333 913) 199N

That is also concerning the properties of a 93 where it is 7977 and there is
no IPn NANX nyT. Or (alternately) it is in a situation where it was sold,

however the buyer did not give the payment for all the fields, therefore he does
not acquire anything beyond the 7¥n -
$(3,12 97 PYYTIT RIP P92 NIINTI 1942 9 174

For it is required that the entire payment be received in order that the
ruling of ,0913 171p 121 MW " 791 go into effect, as is evident in the first P
of 3w TP noon.

Summary
An 72y cannot be 7171 through 221 7Ip (for it is 2"Ava NYT? 9ANWA 1XR) or

through 2ax 173 (if "n7 >vpapnd >72v; for 2382 N°3p1 ¥pp 1PX). He can only be
mp1 with ¥pap because he is considered ypaph 121 (as in s8N ruling) if
he 1s 79102 TAW.

Thinking it over

1. mpoIn states that 72102 77 cannot be referring to 7% 112 by 0°72Y, since
the 2°7ay are not 1NYT> “nwn. Why did not mooin use his previous proof'*,
that we cannot be discussing 7% 112; for then there should be no difference
between PYuoun and o°7v?! "

2. Can ¥p1p be mp1 through g pap?'°

2 1t is easier for a 11p to be effective when there is a 1MX 711 NINR NYT as opposed to being 11112 from po:.
B9y, ama.

4 qom "2

1% See n"ma.

' See 1w M *">2 and RN MR 3" VTR
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